Z> €
BPAEEE S AT L
52 6 MBHEREREEE EER
A
e BZEE
B3 [ e Rl
215 < 220551 4)
EEEESER
EhER]  BEEEA R D4 Fi S e gy T oy
1 N7l weHE INHKA 177 0.000 177.000
2 AR B H AL g 1,446 0.000 1,446.000
3 A &5 2 U 805 0.000 805.000
4 s LADTIT [PEATE 3,178 0.000 3,178.000
5 AR LD AN HHEF 8,130 0.000 8,130.000
§) ML R HHE il 5,697 0.000 5,697.000
7 )l TV giT N HK 4% 167 0.000 167.000
8 Iﬂﬁ“l N HHE il 108 0.000 108.000
&Et 19,708 0.000|(A) 19,708.000
Z Dt
AZH(G) [Fle o (H) [ 2 Dfth( 1)
pym gy | s 7 | G s D) | i ) | ek 0 0 0
N WENDIEFEHEIZE
20,132 20,132 19,708 424 2.11 0.000 O
(A): ’%%%ﬁé‘% (B): #&20# (C): wWIhoE@MHEIcbELZWED (D) : AR ER=(A)+(B)+(C)
(E) : AT (F) @ 225408=(D)+(E)
B F = (F)+(C) +(H)— (1)

1/1



